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201 fer23y| 82,800 82,800 0
N 57,960
o 24,840
01 At 2|l 82,800 82,800 0
OSsgAtdl2el 2&Z| 82,800,000 82,800




FA gsUSD
BE: FOHSXIA (MEISXI/HAHERR)
SI9l FHUHE S FOIMBAHIA N (cre:xigl)
SA - B BRA(SH) - HRA - of v e HIDE2
Xl 57,960
s 24,840
301 EtE N = 55,364 55,364 0
N 39,040
o 16,324
01 Al EE A S (2 RDEXMA) 55,364 55,364 0
OsAtdI2el X3 55,364,000 55,364
Xl 39,040
s 16,324
SHSXNSA2ZEAM 28E 28,000 14,000 14,000
< 8,400
s 19,600
201 er23 | 11,200 5,600 5,600
= 3,360
= 7,840
01 At2teltl 11,200 5,600 5,600
OSHSAGMEEEAM 29
800,000 * 140K 2 11,200
=S 3,360
s 7,840
301 22N = 16,800 8,400 8,400
< 5,040
= 11,760
11 dAMEEIXIE S 16,800 8,400 8,400
OsHsSNGAI2EdE8AN =232 &
A AHI=24 1,200,000 * 140K 2~ 16,800
= 5,040
Ea 11,760
SEAHIZCIAL NI (S EAHBI0IN 2 =€) 2,400 2,400 0
Xl 1,200
o 1,200
101 e124d| 2,400 2,400 0
N 1,200
2 1,200
B (222 HES 2,400 2,400 0
OBEAHHION 28 45
200,000 «1H*12& 2,400
N 1,200
[Ea 1,200
Atell 22l NI 2 dEe =2 34,570 31,570 3,000
201 ger=3| 31,570 31,570 0
01 At 2|l 6,260 6,260 0
Oget=EH| 6,260




FA gsUSD
BB OHE NI (A=K /FH A HETR)
el FHYAS S FUdEAHIA X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AREE 7Y S 1,000,0002! 1,000
HAEH ADE 7Y S
1,000,000& 1,000
~HAEHIRI (SADI S)
1,000,000 1,000
-ROFHIANARES S 3,260,000 3,260
2 5234l 25,310 25,310 0
O332= € HAl 6,240
-HIIMNE= 350,000 x 12 4,200
-SAEH AIEE 50,0003 *2CH* 122 1,200
-dot=E AMIEE 70,0003 * 122 840
OXtgrset] 4,670
-EEEU 250,000 x 122 3,000
-AEEE = 670,000 *1CH 670
XX =& 1,000,000 *1CH 1,000
OAlZ &I Xl 14,400
-QU2ASXANE SFALE RAE2+
1,200,0002 * 12& 14,400
206 M=l 3,000 0 3,000
01 M=4l 3,000 0 3,000
OSgAtdlZelAMd 2208 s 7
100,000& %307t 3,000
KNEXEE MEIMHIA STHAIS (HE OIS A2 XA 5,786 5,786 0
2)
N 4,050
< 868
[Ea 868
308 XXM SOIA 5,786 5,786 0
Xl 4,050
=S 868
s 868
18 SIS B ASAI I 5,786 5,786 0
OXETEE AMEIMHIA SXAIS (ZHE OF
SALXFAIY) 5,786,000& 5,786
N 4,050
= 868
o 868
MEISXEEdE 29 XA 50,000 50,000 0
< 15,000
T 35,000
307 elztol & 50,000 50,000 0
= 15,000
= 35,000
03 2N EE2SHIEx 50,000 50,000 0




SN ==
M FHANSK (MEISX/HLHEXR)
SI9l FHUHE S FOIMBAHIA N (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSENEEREEET
50,000,000& 50,000
= 15,000
Ea 35,000
dE 32l Se=sSAtY 165,000 165,000
== 49,500
o 115,500
201 2= 5,000 5,000
[ 1,500
T 3,500
01 Al222lH] 5,000 5,000
Ossis= 2% £92 S 79 M
2,500 +2,000HK 5,000
= 1,500
[Ea 3,500
307 @120l & 160,000 160,000
s 48,000
s 112,000
11 AMRISXAEEES 160,000 160,000
OFAHEZNEAMS (F0IUR)
2,500,000& 10 25,000
S 7,500
= 17,500
OSg=sUd XS
48,000,000 48,000
= 14,400
o 33,600
OAL =SSN AE 15,000,000 15,000
< 4,500
T 10,500
ORS0I0IS X2 At 50,0002 *100& 5,000
= 1,500
Ea 3,500
Osg=siMg 22 67,000,000 67,000
== 20,100
o 46,900
ZEE A7 MY 18,000 18,000
== 5,400
= 12,600
101 @124H| 18,000 18,000
= 5,400
[Ea 12,600
04 JIZtNZ22NSEs 18,000 18,000

17 -




FA gsUSD et o = T
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

O3gE It ZIIAY 5 0000001 265 8,000
= 5,400
Ea 12,600

DA Ol BrAER £X] XA 4,000 4,000
== 3,600
o 400

401 A2 HIRL R 0HbI 4,000 4,000
[ 3,600
T 400

01 Al&HI 4,000 4,000
ODNEA OiE BRIRE 8% X © 0.0 -
= 3,600
[Ea 400

OSAH Ol & 22 MH AEA 15,000 15,000
= 7,500
= 4,500
o 3,000

201 er23| 2,000 2,000
= 1,000
S 600
o 400

01 Al22t2lH] 2,000 2,000

=== Ny

OLSAL O Al EEE WA > 00000081 2 00
= 1,000
< 600
s 400

301 EtE N = 5,000 5,000
= 2,500
< 1,500
= 1,000

01 A2 HSHS(RNEERTHE) 5,000 5,000
OAHIA S X 5,000,000& 5,000
= 2,500
== 1,500
[Ea 1,000

401 AlZHIZ S0 8,000 8,000
= 4,000
== 2,400
o 1,600

01 Al&HI 8,000 8,000




FA gsUSD
BB OHE NI (A=K /FH A HETR)
Bel: FHAANS S FUMENHA XA (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Og=Esa1=(1eT)I171 7
8,000,000& 8,000
= 4,000
< 2,400
T 1,600
A2 SAteI Zet+s 243,986 277,688 A33,702
= 34,757
& 15,127
Ea 194,102
A2 SA 2CIUI0IE K& - 4 87,590 81,4% 6,095
= 33,209
s 9,963
s 44,418
101 e124d| 81,010 77,845 3,165
= 33,209
= 9,963
o 37,838
03 SRA(RIH )22+ 43,501 41,258 2,243
OXr&sS At 2CIUI0IEH 43,501
-Jl==2 2,410,210 x1H 122 %102% 29,501
= 20,254
= 6,076
o 3,171
=g S 14,000,000 1 14,000
M ORIMZZ2NSE S 37,509 36,587 922
OXtASAH ZOIUI0IEH (1Y)
30,008,880 30,009
2 12,955
= 3,887
2 13, 167
ORAZA BOUOIE +5 S
7,500,000 7,500
4 HSFEESS 6,580 3,650 2,930
04 SRA(RIH)22XN BEE=RES S 6,580 3,650 2,930
OXEZA DRICIUI0IE 393
1,900,000& 1,900
OXESAt WFIACIUOIH R2UABEES
1,800,000 1,800
OXESAL WEACIUIOIH EIXAES
240,000 «1H =122 2,880
ANASAHIE 29 45,480 84,980 39,500
s 4,700
s 40,780
201 =3 20,280 20,280 0




FA E=EUSsD
M FHAANSKE(MEIEX/FHAHEXH)
Bl AHESAtelEeR= (Che 2l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 8,560 8,560 0
Odit==H| 8,560
MNRES Y S 1,000,000& 1,000
“HAHEH ARE 7Y
1,000,002 1,000
MBS U HAET 7Y
50,000& * 122 600
JISEEES AR 50,0002 * 12 600
Stad dEN £X
15,0003 40~ 123 720
-MaEH 2 (APl 45)
1,000,0002! 1,000
~20IHHIAIAY B
110,000 x2CH* 12 2,640
“H==D| Yt 500,000 500
-SJI1E 0| St 500,000& 500
2 S5=2g4l 8,720 8,720 0
O=32=  HAl 4,320
-HIIAEZ 250,000+ 122 3,000
oA EE 35,0003+ 122 420
-Z3tx FAH| 100,000& %12 100
-SHMHRE=S 50,0002 22 100
-NESAEREE MHEEE=
700,000 700
OAIE2 &= X 1,000
-HEHAE S =2+ 1,000,000& 1,000
Oxtgrdet] 3,400
-AEFEU 200,000 * 122 2,400
= NEr s ] 1,000,000 1,000
03 &A= I 3,000 3,000 0
OUZBSAIE SAHES 300,000& %102 3,000
301 22N = 18,000 18,000 0
[ 3,600
T 14,400
14 JIEt2d= 18,000 18,000 0
OXSAIE Y gSH|
1,500,002 x1& 123 18,000
= 3,600
o 14,400
307 @I2t01 & 2,200 2,200 0
s 1,100
s 1,100
02 QB HANEER 2,200 2,200 0
OXESAA =1 F 2,200,000& %12 2,200




FA gsUSD
M FHAANSKE(MEIEX/FHAHEXH)
Bl AHESAtelEeR= (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,100
s 1,100
401 AlEHIZ 2 0HbI 5,000 40,000 235,000
01 Al&H| 5,000 40,000 /35,000
OXESAHE S SZHEAS
5,000,000 5,000
AESA s =8 89,720 89,720 0
201 et 3| 17,500 17,500
01 At22t2l] 17,500 17,500
Oget=ZH] 9,000
-KESA CHH EES HZE
1,000&+1,0005 1,000
-NHESAHESs 822 MR
1,000,000 *43] 4,000
KA SAF AKX 22t
3,000& +1,000% 3,000
-NESANHE E22 A
1,000,000& 1,000
O=g=¢ 3,000
-NASAL RELMI(HE,SEUK)
150, 000& »202] 3,000
ogxz 5,500
-NESA LT & A= NASAAHH
3| XtSSR 1,500,000 1,500
“HAE KAESAL A 4 It
N, 500,000 =4CH 2,000
-NESAL gEd AT
500,000 *4CH 2,000
202 04l 4,320 4,320
01 =LHAHI 4,320 4,320
OXNESA gdat gRFd
90,0002 x4 =122 4,320
203 =8| 1,500 1,500
03 A= PR FZ| 1,500 1,500
OXESAEH 2t 250,000 +62] 1,500
206 M=Hl 5,000 5,000
01 MHZH| 5,000 5,000
OXASAHES MESHIOIESAE, H2SAt
) 5,000,000& 5,000
301 EtE N = 10,400 10,400
11 #AIMHIXIE S 10,400 10,400
OXNESA = - SSUSEAL AH2d
2,000,000 2,000
OXESAAF HEelA, 238 AL 24
100,000 x10E 22| 2,000
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2A:
X XH -
o e

=aak

SA - Z3F - SRA(E) - HRAEY

- ESS

Ofl &F2H

MEE
Ofl &k2h

SOISHERY BANERES
50,0002
OISHERZ BER U +42
1,500, 0002
Oxtera ety
OISHIERZ REH 50,0002 102
~OISHE R SXI%

2,000,000

50

1,500
7,000
5,000

2,000

(Pl
H

==
=

il

Xt

40

SAEE Ot MblA K&

MW

3,09
1,548

464
1,084

3,393

AN297

307 212t01™

Mo W

3,09
1,548

464
1,084

3,393

N297

3,096,000

H H W

3,096
3,09
1,548

464
1,084

3,393

N297

ZHOH

el SX ST (AZISX/HAAHASKIRZ)

W

bl

M

13,074,915
6,431,679
16,120
1,496,949
5,130,167

16,717,359

A3,642,444

H

bl

M H

13,074,915
6,431,679
16,120
1,496,949
5,130,167

16,717,359

A3,642,444

HoH W

2,661,620
1,863,134
239,546
558,940

2,463,048

198,572

HH W

2,661,620
1,863,134
239,546
558,940

2,463,048

198,572

01 Al 2E A S(SRNEXMHE)

OFHeIA=z 2,661,620,000&

Mo W

2,661,620
2,661,620
1,863,134
239,546
558,940

2,463,048

198,572

_23_




2A:
X XH -
o e

=aak

g o
&

JT

X

[l

021 031

=
OH
OH

rere
=

0% OI

E(MEIER/FHLHEXA)

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

SIS WIESY

HH W

519,806
363,864
109,159

46,783

477,621

HoH W

519,806
363,864
109,159

46,783

477,621

42,185

519,806,000

MW

519,806
519,806
363,864
109,159

46,783

477,621

42,185

MW

261,814
183,270
54,981
23,563

226,410

35,404

Mo W

261,814
183,270
54,981
23,563

226,410

35,404

261,814,000&

Mo

261,814
261,814
183,270
54,981
23,563

226,410

35,404

M

15,120
4,536
10,584

15,867

NT47

M

15,120
4,536
10,584

15,867

NTAT

, NEHE)

15,120,000

MO

15,120
15,120

4,536
10,584

15,867

NT47

M H

1,652,600
51,100
1,601,500

1,580,000

72,600

307 212t01™

UMY

1,652,600
51,100
1,601,500

1,580,000

72,600

10 MEISXAIE2HE2EH

BN

1,652,600

1,652,600

_24_




A g=L
Za: Zojol
o

(=)
el

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

1,652,600,000& 1,652,600
51,100
,601,500

M

:

,246,6% 1,429,075 A182,419
872,659
112,199
261,798

MW

307 212+01™ 1,246,656 1,429,075 A182,419
872,659
112,199
261,798

Mo W

10 MEISXAIEHE2IEHIEX 1,246,656 1,429,075 A182,419
OZAUMEANE 2 1,246,656,000 1,246,656
872,659
112,199
261,798

HoH W

ZONQUMEAIL OFIZ2RN AHd+H 6,501 6,501 0
1,950
4,551

M

307 212+01™ 6,501 6,501 0
1,950
4,551

UMY

N EE N EEEETIEES 6,501 6.501 0
OFHOIMEAIL OFIDDR 2A2A 4L

6,501,0002! 6,501
1,950
4,551

M

ZOHCIMEAIE BIIEED| dE KR 1,490 2,325 A835
84
179
417

HH W

307 212t01™ 1,490 2,325 AB835
8%4
179
417

HoH W

11 ARIEXAIEE X 1,490 2,325 AB835
OFHeIMEAE SIIEFD| dE X

1,490,000 1,490
8%4
179
417

HoH W

0z
2
e
ry
Hu
=
e
0z
H0
02

593,834 503,244 590
19,290

H

_25_




SN =D
3 ZOH SX ST (A=X/FHAAS
Rl ZoHe! =X S& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 574,544
307 gl2tol & 593,834 593,244 590
=S 19,290
s 574,544
10 Al SXA2EE 22X 593,834 593,244 590
Ol ZZAIEE 2¢
593,834,000 593,834
< 19,290
s 574,544
SO SAME 29 182,756 175,555 7,201
= 5,700
Ea 177,056
201 er23| 6,000 6,000
01 AtR2t2|HI 6,000 6,000
Ogxz 6,000
—=HSAUE AIRA 6.,000,000& 6,000
307 glztol & 176,756 169,555 7,201
S 5,700
= 171,056
10 AlIS XA E 22X 176,756 169,555 7,201
O==0SguH 29 X3
176,756,000 176,756
= 5,700
o 171,056
oS OISKAHE 29 121,400 112,100 9,300
< 6.800
[Ea 114,600
307 lztol & 121,400 112,100 9,300
& 6,800
= 114,600
10 Al SXAIEEHE2EHI 22X 121,400 112,100 9,300
OHUMALLO0ISAANEH 2
121,400,000 121,400
= 6,800
[Ea 114,600
AN F2ESHEH 2 109,300 105,000 4,300
== 28,300
[Ea 81,000
307 212+01& 109,300 105,000 4,300
< 28,300
s 81,000
10 Al SXAEEHE2EHI2x 109,300 105,000 4,300
OANZAZURIFALSHE 2%
109,300,000 109,300
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SN =D
3 ZOH SX ST(ARISX/FHSHSKE)
Rl ZoHe! =X S& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 28,300
s 81,000
SIS XAIE SAL =¢ 179,400 179,400 0
= 53,820
Ea 125,580
307 gl2to| & 179,400 179,400 0
=S 53,820
s 125,580
10 Al SXA2EE 22X 179,400 179,400 0
OFHAMBAIL, HEAS S SAR £+
85,800,000 85,800
== 25,740
= 60,060
OHMHISE =2 SAHA =&
70,200,000& 70,200
= 21,060
o 49,140
OZOMHAZZ AL E SAA =&
23,400,000 23,400
< 7,020
= 16,380
ZOHRIDIEXRME 2 132,800 126,855 5,945
= 33,000
Ea 99,800
307 gl2to| & 132,800 126,855 5,945
= 33,000
o 99,800
10 Al SXAI2EE 22X 132,800 126,855 5,945
OFMIIIEXZME 2
132,800,000 132,800
[ 33,000
T 99,800
ZojelEo| S I=X2HEH 24 68,579 64,000 4,579
= 13,030
[Ea 55,549
307 el2to| & 68,579 64,000 4,579
= 13,030
o 55,549
10 AlRISXAZEHE 22X 68,579 64,000 4,579
OFMHIEHASEI|=KJAMH 2
68,579,000 68,579
[ 13,030
Ea 55,549
ZONU A X2 48,300 42,500 5,800

_27_




FA gsLS
3 ZOH SX ST(ARISX/FHSHSKE)
e Zojel =SX 88 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 48,300 42,500 5,800
03 2IIHHEE2SHIEX 24,000 22,500 1,500
OXNAM IS 288 XA
18,000,000 18,000
OAIZZI=RIHE 2l 2 A&
1,000,000& 1,000
OZMARI2AHA 24| K&
5,000,000& 5,000
11 AMEISXAIEEXS 24,300 20,000 4,300
OXIMZ KR! StH=3 R
2,000,000& 2,000
Os0tel 2stdsgs A
14,800,000& 14,800
OAIZZ0HR! StHI=3] IR
4,000,000 4,000
OAIZ ! AtAstssd dE A2
2,000,000 2,000
OsXIE0I2 & A XI&
1,500,000& 1,500
ool & AL X1 40,000 40,000 0
307 elztol & 40,000 40,000
04 QIZHHAMAIH 2 & 40,000 40,000
oFojelel & sAsdia & =2
40,000,000& 40,000
o u=s X 17,000 17,000 0
= 6,500
o 10,500
307 @120l & 17,000 17,000 0
== 6,500
o 10,500
11 AMRISXAEEES 17,000 17,000 0
OHsrd gsi2t SsSAe
10,000,000 10,000
== 3,000
= 7,000
OAIZHEOHR! JIZ=THE W=F
5,000,000& 5,000
=S 2,500
s 2,500
ONdEMe JIsES u=s
2,000,000& 2,000
= 1,000
= 1,000
o LT 2 K& (L Ltel) 650,572 634,354 16,218
= 325,286
& 97,586
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FA gsLS
B ool =X SE(ASISX/FHAHERR)
Rl ZoHe! =X S& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 227,700
101 @1A4H| 650,572 634,354 16,218
= 325,286
= 97,586
= 227,700
MU IIRIMZZENSES 650,572 634,354 16,218
Ogbre At (ML H) 650,572,000 650,572
= 325,286
& 97,586
= 227,700
oL X2 X2 (A Rt2l) 118,310 115,364 2,946
= 59,155
< 17,746
s 41,409
101 @124H| 118,310 115,364 2,946
= 59,155
== 17,746
[Ea 41,409
M ORNZZ2NSE S 118,310 115,364 2,946
OgBra At (AlIZHA) 118,310,000 118,310
= 59,186
=S 17,746
s 41,409
ZoHId Rl XI& (SXILX2l) 234,956 217,966 16,990
= 117,478
=S 35,243
s 82,235
307 @12t01 & 234,956 215,966 18,990
= 117,478
= 35,243
Ea 82,235
1 AMISXAEEXS 234,956 215,966 18,990
OZ=XNLRtel K&
234,956,000 234,956
= 117,478
= 35,243
Ea 82,235
JojelEsia 206 A 2,488,502 2,283,869 204,633
= 1,741,951
= 223,965
[Ea 522,586
308 AXIMSOIA 2,488,502 2,283,869 204,633
= 1,741,951




2A:
X XH -
o e

=aak

g o
&

JT

X

[l

021 031
22l

rere
=

0% OI

E(MEIER/FHLHEXA)

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

A H

223,965
522,586

2,488,502,000&

HoH W

2,488,502

2,488,502
1,741,951
223,965
522,586

2,283,869

204,633

HoH W

9,514
6,660

856
1,998

3,344

6,170

308 AtXIEMSO0IE

HH W

9,514
6,660

856
1,998

3,344

6,170

9,514,000&

HoH W

9,514

9,514
6,660

856
1,998

3,344

6,170

Jal
)
in
10

FOR Q! Ol KIAFZE (==Dt)

0
r

M H

137,101
41,130
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